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I. (5 points)  Surprise Co. has been doing better business than even its own most optimistic managers would have ever expected.  When it originally issued its debt securities, the issue due in 2010 was regarded as “junk bonds,” and Surprise had to offer a coupon rate of 12% on non-callable bonds in order to sell them without a discount.  This occurred despite the fact that treasury bonds of similar maturity were offering 6% at the time.  Recently the Surprise bonds have traded at well above face value and are regarded by the market as essentially riskfree.  The rate of return on treasury bills and bonds is now close to 4% at all maturities.

Surprise’s equity beta is currently 0.6.  Surprise has a market value of equity of $200 million.  It has the single 12%, 2010 bonds as the debt on its balance sheet, with the market value of this debt equal to $100 million.

A) What is (your estimate of) Surprise’s current opportunity cost of equity capital?

B) What is Surprise’s current opportunity cost of debt capital?

C) What is Surprise’s current Weighted Average Cost of Capital (using the textbook formula), assuming Surprise is fully taxed?

D) Would Surprise lower its cost of debt if it bought back its bonds and issued new ones?  How would such a buyback and reissuance of debt affect Surprise’s firm value?

II. (6 points)  State whether the following statement is True, False, or Uncertain.  If some parts of the statement are true, but other parts are not, be sure to indicate precisely where, how, and why the argument breaks down.  In any case, even if the statement is true, be sure to explain the reasoning behind your answer completely.

"Most academic studies conclude that the typical firm, especially the typical highly profitable firm, does not have enough debt in its capital structure.  That is, the market value of the typical profitable firm’s securities would increase if the firm took on more debt.  But these studies ignore important aspects of the capital structure decision.  That is, when firms take on more debt it makes their balance sheet weaker and makes the firm less able to ride out any difficulties the firm might encounter.  Therefore, even if the value of the firm would increase with more debt issuance, the firm as a whole would be worse off."
III. (7 points) A November 25 article in the Wall Street Journal reports on a recent increase in the issuance of convertible debt and convertible preferred stock by technology companies.  The article states that companies are selling the convertible securities as a “cheaper financing alternative” to straight debt or preferred stock.

A) Is the article correct in suggesting that the cost of capital for a convertible bond is likely to be less than the cost of capital for a non-convertible bond?  That is, in what sense, if any, is convertible debt a cheaper form of financing than regular coupon debt?  In what sense, if any, is it not?  
B) Venture Capitalists often get Convertible Preferred shares (or securities with similar payoffs) in return for the money they provide to startup ventures.  Why do they choose (and firms provide) Convertible Preferred shares instead of Convertible Debt? 

C) Your friend Jay argues that you should not purchase convertible securities at the moment.  He says, “The fact that these securities are hot items and Wall Street, and many firms are willing to issue them, suggests that they are overpriced.”  Critically evaluate Jay’s advice citing relevant evidence where appropriate.

IV. (8 points) A) What is a poison pill? 

B) When corporations first announce that they will employ a poison pill, what is the typical stock price response to the announcement?  Why does stock price move in this direction?

C) Some shareholder groups have suggested that corporations change their corporate charters to make it impossible for managers to employ poison pills.  Why might such a change in the charter increase the wealth of non-management shareholders?

D) Why might a change in charters to outlaw poison pills, as suggested in part C, decrease the wealth of non-management shareholders? 

V. (4 points) A) What is the nature of any personal tax advantage or disadvantage for individuals in getting their returns in the form of dividends rather than capital gains?  (Be sure to be complete here.) 

B) Are there any shareholders where the taxes at the shareholder level are different than those for individuals?  If so, who are they and how do shareholder taxes on received income work for them?

SPECIAL MULTIPLE CHOICE INSTRUCTIONS: The following three questions are multiple choice-- circle all correct answers.  Note that any number of answers may be correct, from zero to all.private 

No explanation is necessary for full credit.  You may give explanations if you wish, but you may lose as well as gain points from them.  In any event, the explanations should be no longer than two sentences.  

VI. (4 points) Link Corporation’s board of directors is planning to experiment with incentive compensation.  Typically in the past, it has compensated its Chief Executive Officer purely with a fixed salary.  Now, the board is planning to issue a moderate number of stock options to the CEO with typical terms, including a five year time to expiration and an exercise price equal to the current market price.  Currently the CEO owns almost no stock in the company.  Implementing this plan is likely to  

A) encourage the CEO to acquire another company with cash flows uncorrelated with Link’s.

 B) encourage the CEO to invest in riskier projects.

C) be more effective in enhancing shareholder wealth if the CEO is wealthy rather than poor.

D) decrease the CEO’s consumption of non-pecuniary, private benefits on the job.

E) discourage the CEO from paying much in dividends. 

VII. (3 points) Under the assumptions used by Modigliani and Miller to prove their irrelevance results, 

A) the price of a share of stock in a firm will not change if the firm repurchases shares from other investors at the market price.

B) outside investors do not care about risk, so two stocks with the same expected cash flow per share have the same price.

C) firms may default on their debt, but never incur financial distress costs.

D) not only is the market price of a firm’s shares unaffected by dividend policy, but also each and every shareholder is indifferent to this policy.

VIII. (3 points) Because of well-known conflicts of interest between bondholders and stockholders, (assuming that managers act in stockholders’ interests)

A) managers may take negative net present value projects, if their payoffs are inversely correlated with those of other firm activities.

B) the price that firms receive from equity issues at IPO will be higher.

C) managers have an incentive to come up with creative covenants to put in bond indenture agreements that will restrict the managers’ discretion to engage in activity that hurts the bondholders.

D) the amount of dividends that managers are allowed to pay is usually limited by bond covenants.
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I. (7 points)  A December 4 article in the Wall Street Journal reports that many technology sector firms, particularly those that have suffered large share price declines this year, have announced that they will be repurchasing stock.  One technology manager says that his firm has initiated the repurchase program because, “At these levels, the shares are at a tremendous discount to where we view the future value.”

A) Offer an alternative rationale, having nothing to do with any superior information that managers have about the future prospects of their company, for why technology firms may want to pay out cash at this time.

B) Offer an alternative rationale, again having nothing to do with any superior information that managers have about the future prospects of their company, for why technology firms would select the repurchase form of payout (as opposed to a special dividend) after the decline in their share price.

C) Offer a way to empirically test whether your hypotheses in parts A and B are the primary reasons for the increase in technology repurchases, or whether the undervaluation hypothesis of the technology manager is the more likely reason.
II. (5 points) A friend of yours, Hepzibah, will be graduating from school this coming year.   After graduation, she will be helping to start up a new company, Plaintiffs.com, that will assist small shareholders with securities fraud suits against Internet companies and their managers.  Because Plaintiffs.com is just being formed, it has no history of operations and no fixed assets as yet.

Plaintiffs.com has located a small building, currently owned by a bank, that it would like to use for office space.  Hepzibah has never taken any finance electives and asks you for advice about whether to rent the building or whether the company should instead focus its efforts on purchasing the building.  Without doing a full-blown capital budgeting analysis, what advice would you give her?  In particular, mention two distinct considerations relevant to the probable situation of a start-up company that she should take into account in making the decision; for each consideration, also explain whether it makes renting more or less valuable to a start-up.
III. (8 points) DQE Inc. traditionally has been the monopoly supplier of electricity for an area in and around Pittsburgh, Pennsylvania.  As such, their prices have been regulated by government commissions to enable them to earn what the regulators consider a fair rate of return.  

Recently, however, the electricity industry in Pennsylvania has been deregulated.  This has removed DQE’s monopoly franchise but also enabled them to price electricity freely.  The deregulation also enables DQE to engage in investments in non-utility endeavors without regulatory restriction or scrutiny.

Suppose you were a non-insider member of DQE’s board of directors.  What changes would you recommend in DQE’s traditional policies in the following areas, as a response to the deregulation? 

A) Management Compensation

B) Capital Structure

C) Antitakeover provisions in the company’s charter

IV. (4 points) A) What is a spin-off? 

B) When corporations announce that they will engage in a spin-off, what is the typical stock price response to the announcement?  Why does stock price move in this direction.

V. (6 points) A) Explain the theory that suggests that managers with a larger proportional ownership of the firm will consume less in perquisites (non-pecuniary benefits) on the job than managers with a smaller proportional holding.  (Hint: a graph may be helpful here.) 

B) Given the theory you just explained, how can you explain the fact that much of the evidence for outrageous managerial perquisite consumption is in firms where managers have very high ownership fractions?

SPECIAL MULTIPLE CHOICE INSTRUCTIONS: The following three questions are multiple choice-- circle all correct answers.  Note that any number of answers may be correct, from zero to all.private 

No explanation is necessary for full credit.  You may give explanations if you wish, but you may lose as well as gain points from them.  In any event, the explanations should be no longer than two sentences.  

VI. (4 points) Outflow Corp., a firm currently financed 20% by risk-free debt and 80% by equity, is considering doubling its regular quarterly dividend starting in early 2001.  It plans to fund the increased dividend by cutting the amount of money it invests in future new real projects.  The projects to be cut do not differ in risk from typical Outflow projects.  Outflow does not expect to change the number of dollars it will borrow when it raises the dividend.  The effect of such a dividend increase, and its associated changes will normally be to

A) increase the market price of Outflow’s common stock immediately upon the announcement of the change, because of the signaling effect of dividends.

 B) reduce the per share price of Outflow’s common stock in 2005, as compared to the situation where the smaller dividends had been paid in the intervening years.

C) increase the 2005 wealth of Outflow’s long-term shareholders if the investment projects cut were negative net present value ones.

D) increase Outflow’s equity beta in 2005.

E) increase Outflow’s asset beta in 2005 

VII. (3 points) Under the assumptions used by Modigliani and Miller to prove their irrelevance results, 

A) the expected return on a firm’s debt is always equal to the risk-free rate of return, no matter how much debt the firm issues.

B) the expected return on equity is unaffected by the firm’s debt level, as long as there is no chance of default.

C) firms never default on their debt.

D) not only is the market price of a firm’s shares unaffected by dividend policy, but also each and every shareholder  is indifferent to this policy.

VIII. (3 points) Much of the corporate finance literature investigates evidence on abnormal stock returns for a one or two day period surrounding the announcement of corporate policy changes.  It then interprets the average abnormal return as an indication of the effects of the policy changes on shareholder wealth.  This approach is hazardous in the typical study because

A) signals implicit in the announcement may be unrelated to the effects of the policy change.

B) there is no control for risk.

C) the effects of policy changes may be very different for different firms.

D) stock prices adjust gradually to the expected effects of the changes.
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I. (4 points) A) How do Chapter 11 bankruptcy procedures differ from those in Chapter 7?
B) How does a primary common stock offering differ from a secondary offering? 

II. (3 points)  State whether the following statement is True, False, or Uncertain.  If some parts of the statement are true, but other parts are not, be sure to indicate precisely where, how, and why the argument breaks down.  In any case, even if the statement is true, be sure to explain the reasoning behind your answer completely.

"One of the important determinants of a firm's stock price is its return on equity (ROE), which is computed as annual earnings divided by the book value of its invested equity capital.  The firm should therefore reject any new investment project that will cause ROE to fall, since the lower ROE will cause stock price to fall."
III. (10 points) Surprise Co. has been doing better business than even its own most optimistic managers would have ever expected.  The market prices of its securities, especially its common equity, have risen substantially over the last several months.  Surprise's earnings per share, taxable income, and operating cash flows have all shown enormous growth which is expected to continue for the foreseeable future, and is almost certain to continue for the next three years.  Its debt, which was once looked upon as "junk bonds" promising very high yields, is currently viewed by investors as riskfree.  While debt used to be well over 50% of total assets for Surprise, its runup in stock price and increased retained earnings has reduced the debt share of its capitalization substantially in both market and book value measures.  Currently the market value of its equity is $300 million, the market value of its debt is $100 million, the book value of its equity is $40 million, and the book value of its debt is $70 million.

A) Why is the market value of Surprise's equity substantially above its book value?

B) Why is the market value of Surprise's debt substantially above its book value?

C) Why is the ratio of market value to book value so much higher for the equity (7.5) than for the debt (1.4)?

Surprise is considering increasing its debt substantially.  One financial consultant has recommended that the firm sell $100 million of long term bonds and use the proceeds to repurchase common stock. Currently, the beta (β) of the firm's common stock is 1.2 and the β of debt is zero.  If the firm undertakes the extra borrowing, its debt will no longer be riskfree, and will have a β of about 0.1.

D) Approximately what will the β of equity be if the firm takes the consultant's advice?

E) Would Surprise Co.'s stock price probably go up on the day you announce your decision if you take the financial consultant's advice?  Why?

F) Would you take the financial consultant's advice?  Why or why not?  (Be thorough in describing all the important considerations here.)

IV. (8 points) Terrorend Co. makes antibiotic pharmaceutical products.  It currently has a book value balance sheet with $100 million of debt and $900 million of equity.  The market value of the common stock is 1.9 billion.  The 1 year rate on Treasury Bills is currently 4%.  Terrorend has always had substantial taxable income, and this condition is expected to continue if no changes in laws occur.  The β of Terrorend’s equity is 0.7.  The expected rate of return on the market portfolio is 11%. 

A) Compute Terrorend’s Weighted Average Cost of Capital using the “textbook” formula.

Because of the events of September 11, Congress is thinking of passing a bill that would eliminate the corporate income tax on Terrorend and other antibiotic producers.

B) Compute Terrorend’s Weighted Average Cost of Capital using the “textbook” formula, if the bill passes.

C) How would the bill affect the number of new investments in antibiotic research that Terrorend would undertake?

D) How will the value of Terrorend’s common stock change if the bill is passed?  (Be sure that your answer here is consistent with your answer to B and C.)

V. (5 points) The Initial Public Offering of shares in Defense Support Inc. (DSI) has just been finally approved by the Securities and Exchange Commission.  As the approval arrives, there is about to be a Defense Department announcement about which firm will be awarded a major defense contract that DSI has bid on.  Would you advise the company to delay its offering until the winner of the bid is announced, or not?  Describe clearly the costs and benefits involved.
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I. (4 points) 

A) Describe the difference between a Firm Commitment and a Best Efforts initial public offering of stock.

B) Which offering has a greater total cost on average (as a percent of the after-issue market value of the stock)?  Include any underpricing discount as a cost?  

II. (4 points) Your stockbroker has started a new program called “Offer of the Month Club.”  The members of this club are able to purchase some initial public offerings of common stock at their offer price.  Each month the brokerage firm selects one offering that is distributed to members of the club.  The requirement to join the club is that you promise to contribute a predetermined fixed dollar amount per month to the offering.

You have attempted to buy some IPOs in the past, but your broker has never allocated any shares to you.  Now your broker has offered you membership in the club.  Would you join?
III. (12 points) The enormously profitable Strongbal Corp. has no long-term debt outstanding.  One of its major stockholders, industrialist Marvin Moneymaker, thinks this is a mistake.  Other firms in the same industry as Strongbal have equal amounts of debt and equity, in terms of market value.

For the past couple of years, Moneymaker has been arguing in shareholder meetings that Strongbal should increase leverage.  During last month's shareholder meeting, he threatened to make a takeover bid for the firm if they did not increase debt.  Moneymaker now is planning to follow through on his threat and make a tender offer* for enough Strongbal equity to give him control.  If he takes over, he plans to change the firm's capital structure to be the same as the industry average.  He has no plans, however, to change the firm's management, real investment, or assets.

There are 10 million Strongbal shares outstanding, of which Moneymaker currently owns 1 million, and the current price of a share is $40.  Moneymaker plans to buy 4 million more shares to achieve his controlling interest.  He then would have Strongbal borrow $200 million and pay this money out to shareholders as a dividend (or through a stock repurchase). 

The current corporate tax rate is 35%, and Strongbal's taxable income for the last three years has averaged $100 million.  The risk free rate of interest is 5%.  Assume Strongbal's beta of equity is currently 1.2.

Moneymaker, in trying to determine how much he should offer for the shares, reasons as follows-- "The gain from my leverage plan should be approximately the corporate tax rate times the value of my borrowing, or $70 million.  Since I will own half of the company, I will get $35 million of the gain.  Thus, if I got the shares at a premium of less than $35 million divided by 4 million shares, or $8.75 per share over the current market price (thus a tender price of $48.75), I would net a gain from executing the plan."

A) Under what conditions would Moneymaker be correct in stating that the increment to firm value from his leverage plan, compared to the current zero leverage, would be about $70 million?  Be complete and precise here.

B) What factors is Moneymaker ignoring that would be important to determining the value gain from leverage?

C) Suppose you wished to estimate the size of one of the factors in B, and an honest member of Strongbal’s management team were made available to you.  Describe a specific question (which the manager could objectively answer) that would aid your estimate, and show how you would use the answer to better estimate the size of leverage gains.

D) Would Strongbal's equity beta change if Moneymaker's plan were implemented?  If not, why not?  If so, what is your best guess as to what the new equity beta would be?

E) If after all your analysis you determined the gain in firm value was actually $70 million, would you agree with Moneymaker that he would increase his wealth at any price below $48.75?  Why or why not?

IV. (4 points) What effect, if any, would the following changes have on the proportion of debt in a typical firm’s optimal capital structure?

A) A change in the bankruptcy law making it more expensive for a firm to undertake a Chapter 11 reorganization

B) A reduction in the cost of issuing securities through use of the internet

C) An increase in Social Security tax rates (which currently are about 7% of labor income for both employers and employees)

D) An increase in the corporate income tax rate from 35% to 40%

V. State whether the following statements are True, False, or Uncertain.  If some parts of the statement are true, but other parts are not, be sure to indicate precisely where, how, and why the argument breaks down.  In any case, even if the statement is true, be sure to explain the reasoning behind your answer completely.

A) (4 points) “Having too much debt in your capital structure destroys your financing flexibility.  For example, suppose you have the possibility of investing in a project that earns more than the risk-free rate of return, but less than your firm’s weighted average cost of capital.  You will not be able to profitably undertake the project if you are fully levered, but you can make it have a positive Net Present Value if you can fully finance the project with risk-free borrowing.”

B) (2 points) “Bankruptcy is used by firms only as a last resort.  This is partially because when a firm goes bankrupt, its stock becomes worthless and the creditors take ownership of the firm.”

